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SECTION - A
i) General Awareness

In which of the following city, country’s
first greenfield Industrial Smart City
was inaugurated by the Prime Minister
recently ?

(A) Mangaluru

(B) Aurangabad

(C) Chennai

(D) None of the above

What is the capital of Kenya ?
(A) Kampala

(B) Nairobi

(C) Addis Ababa

(D) None of the above

The Battle of Waterloo was fought in
which country?

(A) France (B) Germany

(C) Belgium (D) Britain

Mount Pinatubo (Volcano mountain) is
located in which of the following country ?
(A) Japan

(B) Philippines

(C) China

(D) None of the above

Halophytes are

(A) Plants adopted to growing in saline
conditions

Plants adopted to growing in high
temperature conditions

Plants adopted to growing in less
water conditions

None of the above

(B)
(C)

(D)

Lakshadweep Coral Islands situated in

(A) Indian Ocean
(B) Pacific Ocean
(C) Bay of Bengal
(D) None of the above

7.

10.

Which noted journalist has won the first
Gauri Lankesh Memorial Award for
Journalism ?

(A) Arnab Goswami

(B) Barkha Dutt

(C) Ravish Kumar

(D) Rajdeep Sardesai

Who bagged the best actor award in
Film Fare Awards 2019 ?

(A) Ranbir Kapoor

(B) Vicky Kaushal

(C) Gajraj Rao

(D) None of the above

Consider the following statements about
Samudrayaan project.

1. The ‘Samudrayaan’ project
undertaken by the NIOT, Chennai,
is in line with the ISRQO’s ambitious
‘Gaganyaan’ mission of sending an
astronaut to space by 2022.

2. The ‘Samudrayaan’ is a part of the
Ministry of Earth Sciences’ pilot
project for deep ocean mining for
rare minerals.

Choose the right option :

(A) Only the statement 1 is true

(B) Only the statement 2 is true

(C) Both statements 1 and 2 are true
(D) None of the above

Which of the following Act provides
Protection of Wild Animals, Birds and
Plants ?

(A) National Green Tribunal Act
(B) Wildlife Protection Act, 1972
(C) National Environment Appellate

Authority Act
None of the above

(D)



0O 0O 0 0 I 0 MKG-XXVIVTECHLT/1T/07
WAl - H
i) AT SR
1. &@ & | frafafed § @ frm s 8 | 7. ooeftar @ S wieg weat 3 gwen
TS ER1 <9 o Yt eRass sienfis TR Tehe1 AT kR St foran 7
TS TR 1 IgErTed Tk T 7 (A) 3T TR
(A) WIeTE (B) =@l e
(B) efturaTe (C) w1 FHR
() =3 (D) TrTdY TEwTE
b Rl 6. fiew T 2019 7 TS s
2. &l TS R R 7 1 QR Tt Sffer 7
(A) harer (A) Tt R
(B) ATsh (B) T et
(C) STaTH SFaa (C) TSRS TE
(D) I H & ig TE (D) 3% & T F1E T
3. T W FHIAE O H g ¢ 9. HF vt a3 e weet
(A) %I, (B) S R |
(C) aifesry (D) fore 1. B GRS I\JIOT, EERGY
s e B ISRO & mecariet e fiwm
“ ﬁ@mﬁéf@m%?m) Sit foh 2022 de iy # u safe
(A) ST RIEIREEERENE R OIS E R R
(8) fHferdg ST -
©) == 2. WHRATT gggg ;azgagmi@ e
T mﬁﬁﬁ:@ i URIeTe IfEISET ) O R
5. RBEEE T e g ;
(B) I=d amwM i feafei § e (B) FawFAT 2T |-
FIRAD (C) AiEaA 1 3tk 2 T B
(C) xaﬁﬂ@ﬁlﬁﬁmaﬁ%ﬁ (D) 3o & & Fré 7
(D) 39 4 & HI$ 7 10. mﬁgﬁiﬂq—m anr%nﬁr
, . ] 1 o G013 FAl e !
R HARm B (A) U@uaﬁa%wﬁm
I S (B) a=afta wea siferfam, 1972
(B) SR HEFATTL (C) TS warteRu Adiefldz rfershtor
(C) e = @il sAfafrm
(D) 3% H & 1S e (D) 39 T & IS Tl
3.




MKG-XXVI/TECHLT/1T/07

11.

12

13.

14.

15.

Who among the following personalities
given below also often known as Father
of Bangladesh ?

(A) $heikh Mujibur Rahman
(B) Muhammad Mansur Ali
(C) $heikh Hasina

(D) None of the above

(D) Npne of the above

Who has been honoured with the 2019
Right Livelihood Award ?

(A) Greta Thunberg
(B) Christine Lagarde
(C) John Paul Jose

The bopk “Jyotipunj” is written by
(A) Narendra Modi

(B) H.D. Deve Gowda

(C) Manmohan Singh

(D) None of the above

World
year on
(A) March 218t

(B) March 22nd

(C) March 39

(D) None of the above

ater Day is celebrated every

16.

12

18.

19,

20.

A0 0 0 0 0

Who is the present Governor of
Himachal Pradesh ?

(A) Kalraj Mishra

(B) Bandaru Dattatreya
(C) Acharya Devvrat
(D) None of the above

Which of the following State has got Gl
tag for its famous Kani shawls ?

(A) QOdisha

(B) Rajasthan

(C) Madhya Pradesh
(D) None of the above

Singalila National Park is situated in
which of the following State ?

(A) Karnataka

(B) Tamil Nadu

(C) West Bengal

(D) None of the above

In India Ease of Living Index is
released by

(A) Ministry of Home Affairs

(B) Ministry of Housing and Urban
Affairs

(C) Ministry of Rural Development
(D) None of the above

Which of the following Committee setup
by Central Government advised to stop
setting up new colleges from 2020 and
review the creation of new capacity
every two years after that ?

(A) Nandan Nilekani Committee

(B) Narayan Murthy Committee

(C) B.V.R. Mohan Reddy Committee
(D) None of the above



O OO 0T

1

12

13.

14.

15.

Fr=fafea safFadi @ & fFa sraRs
Sk Shal SITaT & 7

(A) 3@ giE ©HE

(B) HEwG M el

(C) g &HHT

(D) 3 H ¥ IS Tl
Frafafaa # @ forg wom W efce ez
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22.

23.

A 000

i) General Intelligence and Reasoning Ability

Select the correct alternative. If more
than five letters are missing then select
the last five letters of the series.

bce

abc__ea _ dd__

(A) bbbbb
(B) abbbb
(C) dcbbb
(D) none

After the series, below it in the next line,
a number is given followed by (A), (B),
(C), (D) and (E). Complete the series
starting with the number given.

11 15 38 126

7 (A B (€ O (E)
Which number will come in place of (C) ?
(A) 102

(B) 30

(C) 2140

(D) 80

If the given interchanges are made in
signs and numbers, which one of the
four equations would be correct ?
Given interchanges : Signs +' and *~;
numbers 5 and 8.

(A) 82|—35 +55=2

(B) 82—-35+55=102

(C) 85—-38 +85=132

(D) 5235 +55=72

24,

25.

26.

Which one number can be placed at the
sign of ?

) @) () (8 @ (9
&) &) (#2)

(A) 5
(B) 6
(C) 8
D) ¢

Find the missing number in the
following.

6 | 8 | ?
9 | 3 |13
10 | 14 | A
(A) 11
(B) 9
(C) 7
(D) 5

In an examination, 42% students failed
in Hindi and 52% failed in English. If
17% failed in both the subjects, the
percentage of those who passed in both
the subjects is

(A) 23%

(B) 27%

(C) 34%

(D) 40%
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2 o feree W AH - e Wt < et @ ?

@) @) @ G 6@ (9
© Q) (%)
@) O O
(A) 5

(B) 6

(C) 8

(D) ¢

Frfeftaa @ @ qea gean 1a = |
6 8 ?
8 3 13
10 | 14 1

(A) 11

(B) 9

€) 7

(D) 5

ii) aTeT gigrn e difehe arad
Tt feren i | 2Rt ure @ e e gw | 24,
& A oRae & 3ifem ute e1ar g |
apnc.__ea,. . Jdd_ bee . .
(A) bbbbb
(B) abbbb
(C) dcbbb
(D) =TS el
STEell & 16, 9 e 30Tl gfad d Th
i g8 91 & 91 (A), (B), (C), (D) 3R | 25.
(E) 31T & | <1 g3 HEAT ¥ 3IRH T a1
STET 2l U1 e, |
11 15 38 126
7 (A B () O (B
FI9-Hl &A1 (C) & T W AT 7
(A) 102
(B) 30
(C) 2140
(D) 80
gfe fou o fofimy, faeat shgsnetid | 28,

F feu IR 1 9w g § 9 -

- foepcu @ & ?

fo o fafamy ; foem 4 3R =
T 5 3R 8.

(A) 82-35+55=2

(B) 82—35+55=102

(C) 85-38+85=132

(D) 52—-35+55=72

weh qlien o, 42% foremeff fe  srdivl gu
3R 52% 3 § STl 8T | At 17%
a1 A ergefivf gu, ot a1 foi # Sefiof
o aret ferenffat w6 wftera

(A) 23%

(B) 27%

(C) 34%
(D) 40%
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29.
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The sum of ages of a father and son is
45 years. Five years ago the product
of their ages was 4 times the father's
age at that time. The present age of the
father and son respectively are

(A) 25 years, 10 years

(B) 36 years, 9 years

(C) 39 years, 6 years

(D) none of these

When the time is 10:30, if the minute
hand points towards south, the hour
hand will point towards

(A) North-East

(B) North-West

(C) South-East

(D) South-West

In a leap year, which month will have
the same calendar as that of January
in that year ?

(A) April

(B) July

(C) October

(D) March

30.

31.

32.

33.

00 00 00

In a family of eight members, there are
two married couples and a widow. A, the
engineer, is married to a doctor. C, an
architect is the wife of D, E, a student
is the only child of C. G is the son of
H whose sister F, F is the niece of the
manager. B, a teacher, is the mother of
only A and D. Who is the manager ?

(A) E
(B) D
(C) H
D) A

Find the odd man out.
(A) January

(B) April

(C) July

(D) October

Find the odd man out of the series
5,10, 17, 25.

(A) 5

(B) 10

(C) 17

(D) 25

In a certain language MADRAS is coded
as NBESBT, how BOMBAY is coded in
that language ?

(A) CPNCBX
(B) CPNCBZ
(C) CPDCBZ
(D) CQOCBZ
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27. T 3t g <t g w1 I 4598 | wiw

28.

29.

Y g 37eh! TG 1 PHGA 39 T8 T
1 SR 1 47N @ | e 7R g <t gaHE
1Y AT &

(A) 25a, 10 9

(B) 36aH, 9ay

(C) 3974, 6%

(D) 39 & IE T

e ®9 10:30 7, fe e i gg sfem
SFMEAE A Frewanh)
(A) I-F

(B) IW-ufv=H

(C) =fequ-gd

(D) af&ur-ufyem

U e o #, 39 ad 1 e S et
forer wTe & & ?

(A)

(B) e

(C) 3R
(D) ==

30.

31.

32.

33.
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U 1S TeEi o Ufar 1 3 foanfea gme
ST ek favar B | A, S iR 2, 3gem
foame we fafercoe @ gen & | D fit ueh
C U IR & | E, C T Sl sheell Teh
iz G HF R mdisE R F, F
e ohi WelTSil @ | B U 187 & ST haet
AR D H TR | JeIEF A 7

(A) E

(B) D

(C) H

(D) A

gao fag sifen |
(A) Sl
(B) 3
(C) e
(D) 3

q@arl 5, 10, 17, 25 ¥ € gdon 3=
BifeT |
(A) 5
(B) 10
(C) 17
(D) 25

UF FHe 9 § MADRAS %1 NBESBT
foran Strar 2, 36t e 9 ¥ BOMBAY
% Y foran smam ?

(A) CPNCBX

(B) CPNCBZ

(C) CPDCBZ

(D) CQOCBZ
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35.

36.
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Among A, B, C and D, B is heavier than
A and C but C is taller than him. D is
not as tall as C, while A is the shortest.
C is not as heavy as A. D is heavier
than B but shorter than him. Who is the
heaviest ?
(A) B

(C) D

(B) A
(D) C

IfP @ Qmeans P> Q
P+QmeansP>Q
P=Qmeans P=Q
PQmeans P <Q
P+QmeansP<Q

Statement . K@ C, NT, T=C

Conclusions: ) NC

hKeT

Then,

(A) Only conclusion | follows

(B) Only conclusion Il follows

(C) Conclusions | and Il both follows

(D) Either | or |l follows

Four Men A, B, C and D and four
women W, X, Y and Z are sitting round
a table facing each other. No two men
or women are sitting together. W is to
the right of B. Y is facing X and is to the
left of A. C is to the right of Z. Who are
the two persons sitting adjacent to D ?
(A) WandY
(B) Xand W
(C) XandZ
(D) WandZ

37.

38.

39.

40.

00 DO OO0 0 OO

Which of the following words will come
at second position if all the words are

arranged alphabetically ?
(A) Prominent
(B) Prohibition
(C) Programme
(D) Protracted

How many 3's are immediately preceded
by 9 but not immediately followed by 5
in the following number series ?

934593593643933539539
31757359395

(A) 4
(C) 5

(B) 3
(D) 2

How many pairs of letters are there in
the word ‘CONTEMPORARY’ which
have as many letters between them in
the word as in the alphabets ?

(A) 0
(B) 4
C) 3
(D) More than 4

in a row of girls, Chetna is 7! from the
right and Neelam is 15 from the left. If
both of them exchange their positions,
then Chetna becomes 20" from the
right. How many girls are there in the
row ?

(A) 26

(B) 21

(C) 85

(D) 34
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34.

35.

36.
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A, B, C3RDH, B, C3RAYIKE
Tig C 39d &« § | D, C foran e 7ef 2
Sefeh AT BRTE | C, A TS Wil =i
21D, B uift ¥ wig 359 BRI §, w94
TR FER ?
(A) B

(C) D

(B) A
(D) C

IRPe@Q®EATP>Q
P+Q@E AL P>Q
P=Q®#JAIP=Q
PQHFIFP<Q
P+Q&E 3 P<Q

HIT:K@C,NT, T=C

ferd )N C

mKe@T

-,

(A) herer frsehd | STgERT AT § |
(B) haet A || STTER0T 1 & |
(C) Toreemd | 3R 1| AT ST FAAT R |
(D) ATGT 1T || ST AT 2 |

AR Q& A, B, C @it D 3t 9w ufgend
W, X, Y 3R Z U 89 & =R AR Th
TR A A g Fh A T | S & P AT
<) mfgemd ven Wy T §9S | W, B a8 )
YHGE X H AR AIRAFEMR 1 C, Z
FACTE | D I o6 ) Al hH & ¢
(A) W3y

(B) X IRW

(C) X3z

(D) W3Rz

37.

38.

39.

40.
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FUIHTEAT oh ST A TEd St TR -4
768 TH T W A1 ?

(A) Prominent

(B) Prohibition

(C) Programme

(D) Protracted

frafafaa seen § fraw 3 W@ 2 o
3tk UES O Wi SNk G 5 AR @ 7
934593593643933539539
375759395

(A) 4 (B) 3

(C) 5 (D) 2

312 ‘CONTEMPORARY’ # a1&ri % &
ot g & o o 7 30 4 e 2
¥ avtaren § § 7

(A) 0

(B) 4

©) 3

(D) 4% i

wiefrd i w R, o @ 7 4
3R Hfiem smd @ 15 off & | 3l g1
T 194 § 5 ol &, 1 = & 8
20 =ff 21 Sireft B | fers # e Tomertt ersferat
g7

(A) 26

(B) 21

(C) 35

(D) 34
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41.

42.

43.

44.

45.

=12-

ili) Arithmetical and Numerical Ability

fA:B=2:5then
(10A +3B) : (5A + 2B) =
(A) 4:7

(B) 7:4

(C) 3

(D) 7:3

If 2X —2%X—1 =4 then 3% =
(A) 7 (B) 3
(C) 27 (D) 9

The value of

a+b b+c c+a
x2 xP x° B
xb} xc xa

(A) O

(B) 1

(C) abc
(D) a?b2c?

23.33_
(A) 612

(B) 216
(C) 218
(D) 126

The ages of two persons are in ratio
5 : 7. 18 years ago their ages were in
the ratio 8 : 13, their present ages (in
years) are
(A) 50,70
(B) 70,50
(C) 40, 56
(D) 835,49

46.

47.

48.

49.

50.

A bag contains Rs. 187 in the form of
1 rupee, 50 paise and 10 paise coins in
the ratio 3 : 4 : 5. The number of coins
of each type are respectively

(A) 102,136, 170
(B) 136, 102, 170
(C) 170,102, 136
(D) none of these

The 3 numbers in Arithmetic Progression
(AP) whose sum is 18 and product is
210 are

(A) 5,6,7
(C) 3,4,5

(B) 4,5,6
(D) 2,4,6

If the second term of an AP is 4 and
10 term is 20, then the 15 term is

(A) 28
(B) 32
(C) 30
(D) none of these

A man sells 6 radios and 4 televisions for
Rs. 18,480. If 14 radios and 2 televisions
are sold for the same amount, the price
of a television is

(A) Rs. 1,848

(B) Rs. 840

(C) Rs. 1,680

(D) Rs. 3,360

Thrice a number is 24 more than
one-third of it. The number is

(A) 8 (B) 9

(C) 12 (D) 15
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41.

42.

43.

44,

45.
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iii) TeRTTUTES U e TRl

JEA:B=2:5d
(10A + 3B) : (5A + 2B) =
(A) 4:7

(B) 7:4

(C) 3:7

(D) 7:3

gfe ox —ox-1-4q1 3¥=
(A) 7 (B) 3
(C) 27 (D) 9

a a+b b b+c ¢ \c+a
X X X | wmumR
SRERE
(A) O
(B) 1

(C) abc
(D) a?b?c?

3. 33 _
(A) 612
(B) 216
(C) 218
(D) 126

3l Al H TG H IAUE5: 7 7 |
1899 qd 391 31 8 : 13 U 4 <ff,
IAUH g © (Iu H)

(A) 50,70

(B) 70,50

(C) 40,56

(D) 35,49

46.

47.

48.

49.

50.

s At § 1 ®YU, 50 97 SN 10 W &
R F® U E 187 FAN: 3:4:5%
3T A 2 | TS TR o foaeni i g
HO: B

(A) 102, 136, 170

(B) 136, 102, 170
(C) 170, 102, 136

(D) 3 T g T

TR Aot & 3 gETd e 3 18 3t

TS 210 2
(A) 5,6,7

(C) 3,4,5

(B) 4,5,6
D) 2,4,6

7fé Te T 2ft @ UG 49 1091 92
202, M 1537 98 2

(A) 28

(B) 32

(C) 30

(D) 79 ¥ IS TE

s =afgq 6 et ot 4 2fafasw
%. 18,480 W S=a1 ® | Ifg 14 e oMk
2 feafesm oft 3eft e o o= 9 &, A U
fafasH &1 g @

(A) %. 1,848

(B) %. 840

(C) %.1,680

(D) %. 3,360

T G H o N 9 T fawrE |
24 37 B | GEAT B

(A) 8 B) 9

(C) 12 (D) 15
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The angle covered by the minutes hand
in 12 minutes is

(A) 60°
(C) 72°

(B) 108°
(D) 100°

If tanb + secH = a and sech —tan® = b
then the relationship between a and b is

(A) o=

(B) ab=1
(C) a®+b%=1
(D) a2—-b2%=1

A cuboid has its length, breadth
and height as 5 cm, 3 cm and 2 cm
respectively. Its volume in cubic cm is

(A) 27 (B) 30
(C) 33 (D) 36

The area of a triangle whose sides
measure 14 cm, 48 cm and 50 cm is

(A) 672 cm?
(B) 336 cm?
(C) 350 cm?
(D) 700 cm?

The wheel of a motor car makes
800 revolutions in covering 880 m. The
diameter of the wheel is

(A) 0.35m
(B) 0.175m
(C) 0.70 m
(D) none of these

56.

o7,

58.

59.

60.

0000000 0t

Simple interest on Rs. 2,000 for
5 months at 16% per annum is

(A) Bs.133.33
(B) Rs.133.26
(C) Rs. 134.00
(D) Rs. 132.09

The smallest number which when
divided by 16, 20 and 40 leaves the
same remainder 4 is

(A) 124
(B) 84
(C) 164
(D) 80

If the product of two numbers is 216 and
their LCM is 36, their HCF is

(A) 8 (B) 7
€) 6 (D) 9

The point of intersection of the lines
2x—-5y=6andx+y=3is

(A) (0,3)

(B) (3,0)

(C) 3,3

(D) (0,0)

If the point (k, 3) is at a distance of /5
units from the point (2, k), the value of
kis

(A) 1

(B) 4

(C) 1and 4

(D) none of these
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12 firme @ fiFe &1 g3 a0 7 fomn S
AT 107 B

(A) 60° (B) 108°

(C) 72° (D) 100°

7fE tand + secl = a 3 secH —tand = b
dl a 3 b & o< GaY 2

&

(A) =1

(B) ab=1

(C) a2+b2=1

(D) a®-b%=1

Ffe gy < FaIE, <eTs TR A 5. .

34, 3R 2 4. 1. HHeT: § | SHHT A=A
g a . g

(A) 27 (B) 30

(C) 33 (D) 36

38 st &1 aaha ot senei i 7
14811, 48 d. 5. 3t 50 4., 2

(A) 672412

(B) 336 H.H1.2

(C) 350®.11.2

(D) 700 §.#1.2

880 . ¥ FH T U T &R & U
800 T R &d 2 | ufew 1 =mE 7

(A) 0.35H.

(B) 0.175 Hi,

(C) 0.70+i.

(D) 38§ IS e

56.

57.

58.

59.

60.
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%. 2,000 T 5 TTE T 16% Ifa a8 i &
T QIR AT &

(A) % 133.33

(B) %.133.26

(C) %.134.00

(D) %.132.09

a%@zﬁ@@ﬁz:i@ma‘ns,zoaﬂuqa

7T fou SR W W 9y 4 i ?

(A) 124

(B) 84

(C) 164

(D) 80

Ife 3t TEATSl 1 UHEA 216 3T IAH
oY 36 B, d 371 HEY B

(A) 8 B) 7

(C) 6 (D) 9

"l'@'raﬁ2x-5y=63ﬂ'{x+y=3$l
i fig 2

(A) (0,3)

(B) (3,0)

(€) (3.3

(D) (0,0)

afe g (k, 3), g (2, ) & /6 TR AR,
al kT A ©

(A) 1

(B) 4

(C) 134

(D) TH @ IS e
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iv) Hindi Language and Comprehension

&=t v sy
. WEHd: % o fhad 95 8 ? 67. THICT FITHT TST T VoG @ 7

(A) @ (B) (A) 3Tt HRE
(C) =R (D) 38 & &1 T (B) msh
‘sTeTeh 93 forgdl @ | 34 are % wiawa = Tﬁ
HId 4 FefeT | (B i
(R) ST o e | 6. ot Wi % e we 7 A B, 3
(B) =eteh 4 F forar | FEd ¢ |
(C) sw T fE @ | (A) A
(D) ¥ ¥ IS T (B) Mg
Scafet % TR e o1 e e s
A) ai S 69. 0T o HTIR W T % fhad B ¥ ?
11 3153 Taha 37T T1shel W1 fofehet 21 (B) =R
3 o 8, 3= e ¢ | (C) =
(A) T (B) T (RS RS e
(C) < (D) forcwr 70. W+ T3 = T, [ T e
YT 1 AEH I[e8 B Cl _
(A) (B) TR (A) TT@
©) ¥ (D) = ()t

(C) v wfy
foRET o1 qeam w1 2 (D) rnfe @fyr
(A) F9%
(B) mc;{ Pk ﬁmwﬁﬂﬁ%w%
() o (A) ®) ¥
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fFa R o W wm A A R ?
(A) &l FEH

(B) ity

(C) &4 =R

(D) U7 FHH

Fovs H A e, e wead |
(A) TidH

(B) fefs

(C) faarnfeatyss

(D) 9 & S

T | G Y8 TRUTY A fasier
JETRAT & 7 '

(A) HTeT =IgT

(B) F® TeA™

(C) qETE

(D) SR BT

AR 1 TIIyor i sqaE TR
BATR |

(A) <

(B) dH

(C) IR

(D) 34 | =g 7

ey el v S s mER wr ey
BRI wEdE |

(A) T

(B) g

(C) &

(D) ¥ ¥ =1 e

F 4§
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3799 & fohad Y B E 7

(A) TT=
(B) Hw
() =t
(D) ¥ & #é 7

<1 YT, ST AT SRl ohl TR Sie aTe,
&I CEAINEACT B o o
(A) HY=IT TGF T

(B) forwwania = o1

(C) HeIg Tk AT

(D) TH 4 g T

STt 95 Y@l & aT foh area A geiftra
g7

(A) Fefarea

(B) HHar=y

(C) wigaT=a

(D) 34 @ IS AL

e i e § wafm -
“HIE & YT 8 |

(A) HI& BRI g&Toh 9t STeht © |
(B) TIeH &l T&i%h e AR |
(C) WIe | Y&k Ygl el S |
(D) 8 & IS T
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v) English Language and Comprehension

TN W SR Ay

Fill in the blanks with appropriate prepositions
from among the choices given below.

81. [Pl meet you the airport.
(A) on (B) in
(C) off (D) at

82. He was the first the boys to
win a prize.
(A) between (B) among
(C) across (D) through

83. A small pouch was sewn his
jacket.
(A) into (B) onto
(C) to (D) with

Fill in the blanks in the following sentences
using the appropriate antonyms of the words
underlined.

84. Though he has a secure job, he feels
at times.

(A) insecure
(C) securely

(B) unsecure
(D) imsecure

85. The arrival and timings of the
train was mentioned on the notice
board.

(A) Entry

(B) Reaching
(C) Departure
(D) None of these

86. Virtue is the opposite of
(A) Chastity
(B) Merit
(C) Morality
(D) Vice

-18-

Choose the wrongly spelt word from the
following choices.

87. (A) CONTRIBUTION
(B) GENEROSITY
(C) PARANOIA
(D) TRASITARY

88. (A) INTRICATE
(B) CONSEQUENSE
(C) AILMENT
(D) HAZARDOUS

Fill in the blanks with suitable articles from
among the choices given below.

89. We had lunch at
restaurant.

(A) a
(B) the
(C) an
(D) none of these

newly opened

90. Can| get seat on the bus ?
(A) the (B) an
(C) a (D) on

91. ox is required to till this field.
(A) A
(B) An
(C) The

(D) None of these
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In each of the following sentences a word is
underlined. Choose the right synonym of the
word underlined from the alternatives given
below the sentence.

92. The minister came with his escort.
(A) friend
(B) bodyguard
(C) family
(D) courtiers

93. The soldiers plundered the beautiful

country.
(A) Appreciate  (B) Admired
(C) Looted (D) Visited

94. The essay calls for a great deal of
introspection.
(A) Criticism
(B) Appreciation
(C) Admiration
(D) Self-examination

Add suitable question tag to the following
statements from among the choices given
below.

95. You would scarcely expect a holiday,
?
(A) wouldn’t you
(B) will you
(C) would you
(D) haven’t you

96. Rimacaresfortheelderly, 2
(A) isn’tit
(B) does she
(C)
(D)

will she
doesn’t she

MKG-XXVIVTECHLT/1T/07

Choose one word substitute for the following
from among the choices given below.

97. Assuring that something will definitely
be done

(A) Decision
(B) Seize

(C) Obsession
(D) Promise

98. Examination of one’s own thoughts
(A) Retrospection
(B) Inspiration
(C) Destination
(D) Introspection

Fill in the blanks in the following sentences
using the appropriate forms of the words
given in brackets from among the choices
given below them.

99. She was asked to write a job
(apply)
(A) applicable
(B) apply
(©)
(D)

application

applicant

100. (expect) is always better than

fulfillment.

(A) Expectation
(B) Expectability
(C) Expectant
(D) Expect
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SECTION-B
. Post Specific Subject-Related Questions

Size of the image formed when the object
is placed at the center of curvature of a
concave mirror is

(A) point size

(B) same size as of the object-

(C) highly enlarged

(D) diminished

Identify the wrong statement from the
following.

(A) Thick waxy coating, sunken
stomata adaptations are found
mostly in Xerophytes

Swelling of the guard cells due to
turgar pressure creates a pore in
between them

Guard cells have thick inner walls
and thin outer walls

In succulents the stomata remain
closed during day time

(B)

(©)

(D)

Magnesium ribbon burns with a dazzling
white flame and changes into

powder.
(A) White (B) Black
(C) Grey (D) Brown
Sunlight
6 CO, (aq) + 6 H,0 (1) W X+60, (aq);
Xis
(A) Galactose  (B) Glucose

(C) Sucrose (D) Fructose

The type of mirror used as rear-view
mirrors in vehicles is

(A) convex mirror

(B) concave mirror

(C) plano concave

(D) plane mirror

106.

107.

108.

109.

110.

I 5

T

This is the work of gustatory receptors
(A) Touch detection

(B) Sound detection

(C) Taste detection

(D) Smell detection

reacts vigorously with water
to produce slaked lime.

(A) Ca(OH),  (B) CaCO,
(C) Ca0 (D) CaCl,

Chemical formula of marble is
(A) CaO (B) Ca(OH),
(C) Ca(HCO,), (D) CaCO4

Which of the following has a higher
value of absolute refractive index ?

(A) Air (B) Glass
(C) Rock sait (D) Diamond

Stomatal guard cells are

(A) a type of vascular tissue
(B) atype of ground tissue
(C) atype of epidermal tissue
(D) dead cells

Burning of natural gas is an example for
reaction.

(A) Exothermic (B) Endothermic
(C) Evaporation (D) Reduction

Ferrous sulphate on heating decomposes
to Fe, 04, SO, and

(A) O, (B) SO4

(C) S (D) Fe
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e wiaithes o - gaeft ua

wfdfes &1 3R, S 3% I T Fqd
0T % Skl ohg UX TT AT B

(A) Tog smmehR

(B) %] % STHR & TUH

(C) 3=9 ¥ ¥ yEftia

(D) B

Frfafaa | | Ted Figd e |

(A) T Y 9T, 99 §0 Y SEAA

(B) ThId 319 % RO TTE hITITHT 6 FeATd
Y 37 o9 &g o= s 8

(C) TITS ShifIreRTd Hidt Taiies faf e
gaett smer Tt 6 2t 8

(D) TER e # 1y &7 ¥ 5ig @ &

iR e U SHeeR Yo el o 91

STeTdT & 3R R H e ST |

(A) wdd (B) =l

(C) wi& (D) ¥

6CO, (wefa) + aHze(aa)—%x +60, (wfa);

&

(A) T (B) TeLhIS

(C) g (D)

qrel i gva-gfee gdun o w9 # i fema
S ST <407 1 TR 2

(A) 3T Ul

(B) 3add gyul

(C) TWaTEad

(D) THAA UYI

106.

107.

108.

109.

110.

111,

112.
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I8 W AlTEF aed &1 &
(A) 93T ST AT STET
(B) €&t =l qdl @IHI
(C) e % a1 ST
(D) 7Y T I ST
St o WY asfl @ 3rfufsea
e g1 o1 A1 ST 2 |
(A) Ca(OH), (B) CaCO,
(C) CaO (D) CaCl,
T 1 THE S G 2
(A) CaO (B) Ca(OH),
(C) Ca(HCO,), (D) CaCOjq
Frafeafaa @ @ forae qof stoadars 9=
IR 7
(A) 91
(C) =EHlTwH
(A) GaEH! Ik o1 Tk T
(B) 0T Hdeh I Ueh Wbl
(C) &< s I Toh TR
(D) T k1 :
WTehfcieh T ol ST srferferan
%1 Teh ITEA 2 |
(A) SeHTeEST (B) Fearasist
(C) arediertur (D) 39FIH
W Fohe T FH W/ Fe,0,, SO, 3R
HE @R |
(A) O, (B) SO,
() S (D) Fe

i

(B) &=
(D) @
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A concave lens has focal length of 30 cm.
At what distance should the object from
the lens be placed so that it forms an
image at 20 cm from the lens ?

(A) 60cm (B) 30cm
(C) 20cm (D) 15cm

Which of the following is not occurred
during photosynthesis ?

(A) absorption of light by green plants
(B) splitting of water molecules

(C) reduction of carbon dioxide

(D) utilization of oxygen

on thermal decomposition
produces CaO and Carbon dioxide.

(A) Lime (B) Slaked lime
(C) Limestone (D) Lime water

Formula of sodium zincate is
(A) NaZn,O, (B) NaZnO,
(C) Na,ZnO (D) NayZnO,

The change in focal length of an eye
lens is caused by the action of the

(A) Pupil

(B) Retina

(C) Cilliary muscles
(D) Iris

Which of the following organism obtain
their food through heterotrophic mode
of nutrition ?

(A) Sugarcane plant
(B) Cuscuta plant
(C) Mango plant
(D) Diatoms

119.

120.

121.

122.

123.

124.

125.

0O 0 OO0 0 Pt

All metal hydrogen carbonates react
with acids to give gas.

(A) CO,
(C) H,

(B) O,
(D) Cl,

When pH of rain water is less than
, it is called acid rain.

(B) 7.2
(D) 6.5

(A) 7.4
(C) 5.6

A current of 0.25 A is drawn by a
filament of a electric bulb for 5 minutes.
The amount of electric charge that flows
through the circuit is

(A) 256C (B) 50C

(C) 75C (D) 100C

This is called energy currency of the
cell

(A) Pyruvate
(C) ATP

(B) Ethanol
(D) Glucose

Tooth enamel, made up of
is the hardest substance in the body.

(A) Calcium carbonate

(B) Calcium phosphate

(C) Calcium oxide

(D) Calcium hydrogen carbonate

is used as an antacid.
(B) Mg(OH),
(D) LiOH

(A) NaOH
(C) KOH

The Sl unit of resistivity is
(A) ohm

(B) ohm metre

(C) ohm per metre

(D) per ohm metre
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UF Faqd o ) B gt 30 A B |
] 1 18 Y Tehat g T T wfe foR
wfdfers | & 20 &+t i g wem ?

(A) 60T (B) 30 @t

(C) 20 Tt (D) 15

fafafaa d @ F9-a1 g gy &
SR e e 2

(A) efea TieT gRT TeRTST T ST
(B) SToT YT Al g1

(C) e STEHTFAZE F1 STT=IH

(D) 3Teis =1 3T

g g | Ca0 3R
el SFATHAEE AT 2 |
(A) <1 (B) =1 g1 =T
(C) s 9’ (D) i F I
Tifezm ke 1 gz 2
(A) NaZn,0,  (B) NaznO,
(C) Na,ZnO (D) Na,ZnO,
T 49 &9 F Blehdd @d1s ¥ IiEd-
HfFmgm e |
(A) Yot
(B) e
(C) Taferrtt aigufyrt
(D) emsfr

Fafafiga 3 @ -1 sfa g 9w
GRT 3TAT 9IS 1o Shldl @ ?

(A) T T A

(B) e drer
(C) I g

(D) SrEeH

149
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121,
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MKG-XXVIVTECHLT/1T/07

¥l g1 BEESA FEHE A F Y
rfsrfera e TG |
(A) CO, (B) O,

(C) H, (D) Cl,

el a1 5iel sl pH BT
2, 13U et awl g € |
(A) 7.4 (B) 7.2
(C) 5.6 (D) 6.5

& foea e & uE g g/ 5 fie @
0.25 A %1 U farega ©ff<h St R | wftmy
T & ATl TR Sama @

(A) 25C (B) 50C

(C) 75C (D) 100C

. 30 IR < Sl weHl wed ©

(A) UEEAE
(C) widt

3Td 1 T,

ST TR 1 FHorad verd 2 |
(A) FfEEm FEFe

(B) ShfcIram ek

(C) FHfArm ATFarge

(D) HfeIray BI3EISH Hraie

Tl STEATIRY o €9 H T
fora Stran 21
(A) NaOH
(C) KOH

(B) Sumre
(D) TG
1§41 21 B

(B) Mg(OH),
(D) LiOH

wfetiersrar (fafefad) i sizwE 2
(A) T

(B) & Hiex

(C) e wfq Hiex

(D) i e Hie
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An animal with short intestine means
(A) carnivore (B) herbivore
(C) omnivore (D) frugivore

Stinging hair of nettle leaves inject
acid causing burning pain.

(A) Ethanoic

(B) Methanoic

(C) Benzoic

(D) Salicylic

is produced by the action of
chlorine on Ca(OH),.
(A) CaCl, (B) CaOCl,
(C) CaOCl (D) Ca(HCO,),

An electric lamp of resistance 20 Q and
a resistance of 5 Q are connected in

series with a battery of 8 V, then current
through the circuit is

N?ﬂ 200
4

I'ra v
(A) 0.32A (B) 3.125 A
(C) 200 A (D) 25A

What happens when the HCI secretion
in the stomach of a man is blocked ?

(A)
(B)

protein digestion impairs

carbohydrate digestion is not
occurred

fat digestion is affected

food cannot ingested by the
person

(C)
(D)

131.

132.

133.

134.

135.

136.

137.
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Recrystallisation of sodium carbonate
gives

(A) Washing powder

(B) Baking soda

(C) Baking powder

(D) Washing soda

Gypsum is
(A) CaSO,."2H,O (B) CaSO,.H,0O
(C) CaS0O,.2H,0 (D) CaSO,

100 J of heat are produced each second
in a 4 Q resistance. The potential
difference across the resistor is

(A) 25V (B) 5V
(C) 10V (D) 20V

In which of the following respiration
method carbon dioxide is not released ?

(A) Aerobic respiration

(B) Lactic acid fermentation

(C) Alcoholic fermentation

(D) Krebs cycle in higher plants

is most ductile metal.
Sodium (B) Gold
Zinc (D) Aluminium

(A)
(©)

is a non-metal but it is
lustrous.

(A) lodine

(B) Bromine
(C) Chlorine
(D) Gallium

1 kilowatt hour (kWh) is numerically
equal to

(A) 3.6x10%J
(B) 3.6x 108
(C) 3.6 x107J
(D) 3.6 x 1084
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(A) TigmETd (B) SIRIEH

(C) Tafer (D) FAEHI

freg s 3T 3 37 &
Al & ool Siem F gy e g ? |

(A) 39ATsH

(B) #ieHTE

(C) dSiTE

(D) Ecfiamsioms

___ Ca(OH), T Tt ht femam
T ITfed B g |

(A) CaCl,
(C) CaOCI

(B) .CaOCl,
(D) Ca(HCO,),

20 Q ¥fatg rern T foegd o 3t 5 Q
1 Tk Tflier saen | 8 V il U o @
Se &, ot uftgy % frga @

@

50 200

8V

(A) 0.32A
(C) 200 A

(B) 3.125A
(D) 25A

e Ush S fad o AW A HC| |Ev &6
71 R, A T BT R ?

(A) S w1 UTEE S Bal 8

(B) HTETBIZSE o UTe Tl BIal

(C) =91 &1 qr= STferd e @

(D) =afad gHT WISH &1 @ ST
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(A) HTeH TI3ET

(B) s drer

(C) S aIEet

(D) €ad Trel

forem 2

(A) CaS0,.%2H,0(B) CaSO,.H,0
(C) CaS0,.2H,0 (D) CaSO,

T 4 Q uiqtg 4 Ui §S 100 ST s
3c0d Bt @ | wferverss # fawarat @

(A) 25V (B) 5V

(C) 10V (D) 20V

frafafga o @ fra waa fafy gro s
eRATFaEe Frifha = 2 2

(A) dREHE 98

(B) Wifaes et Torvaq

(C) IIchIgerga fohuad

(D) 3= UIEHl § shel 9%

gaiferes erefiel (sHrser) ag e |
(A) |ifeaw (B) @I

(C) ST (D) TegHifas
T g & Wy THHIR ¢ |
(A) JEEH

(B) SHH

(C) TN

(D) #ferm

1 feretiate g21 (kwh) 3T &1 8
* TR R |

(A) 3.6x10°J

(B) 3.6x10°J

(C) 36x107J

(D) 3.6x108J
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Pyruvic acids formed during which of
the following process ?

(A) Electron transport system
(B) Krebs cycle

(C) Glycolysis

(D) Alcoholic fermentation

does not react with cold
water, but it reacts with hot water.

(A) Ca (B) Mg
(C) Al (D) Fe

Aqua regia is a freshly prepared mixture
of concentrated and

(A) HNOj5 and H,SO,
(B) H,SO, and HCI
(C) HNOg4 and HCI
(D) H,S0O, and H;PO,

In Fleming’s right hand rule, the fore
finger indicates the direction of

(A) Current induced in conductor

(B) Movement of conductor

(C) Magnetic field

(D) Force exerted on conductor

When atmospheric oxygen percentage
decreases then the animals

(A) respires slow

(B) respires fast

(C) do not react

(D) eat food vigorously

Melting point of NaCl is
(A) 1068 K (B) 1045K
(C) 1600K (D) 1074 K

144,

145.

146.

147.

148.

149.

|00 0 OO0 Ot

Cinnabar is an ore of
(A) Silver
(C) Mercury

(B) Potassium
(D) Zinc

The principle behind the working of a
generator is

(A) Electromagnetic induction

(B) Doppler effect

(C) Hysteresis

(D) Stark effect

The majority of carbon dioxide produced
by our body cells is transported to the
lungs

(A)
(B)
(€)
(D)

The reaction of Fe,O4 with Al is used to
join railway tracks is known as
reaction.

(A) Thermit

(B) Double displacement
(C) Endothermic

(D) Thermal

attached to haemoglobin
dissolved in the blood
as bicarbonates

as carbonates

Solder is an alloy of
(A) CuandZn (B) Cuand Sn
(C) PbandZn (D) Pband Sn

The value of universal gravitation
constant is

(A) 6.673 x 10711 Nm2kg—2
(B) 6.673 x 10" Nm?kg—2
(C) 6.673 x 107> Nm?kg=
(D) 6.673 x 109 Nm2kg—2
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gl s Frefefaa o @ fom ufsan
F SH a1 ?

(A) FAFTA ufters yureft

(B) *d TH

(C) Tmghifafam

(D) Teehieeryad fohvam
SR UHrFHHE s T
oiq T gt o Ty AR e |

(A) Ca (B) Mg

(C) Al (D) Fe

Stettr i gifeq 3R

1 T arsTt aar fora e o g |

(A) HNOgZ 3R H,S0,

(B) H,SO, 3R HCI

(C) HNO, 3R HCI

(D) H,SO, 3R H,PO,
wimseEigg fandsmIneft
it foxm goidt § |

(A) e # Uit forga

(B) =ITereh ohi T

(C) Howshia &

(D) =TeIh TSl S

STel AgHEETY SIS iy Tem g, drsie
(A) o aigad

(B) el Gig o &

(C) wicfsran =& 2a

(D) STcaftres WIsH & &
NaC| =1 T 2

(A) 1068 K
(C) 1600 K

(B) 1045 K
(D) 1074 K
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(A) =g
(C) um

U 9 A Frise & 9 fagm 2
(A) Ferga gt S

(B) Siw” y9&E

(C) fewdifm

(D) T yuE

TR T N wiftemet g senfea
Hens e STawTEe Whel §
gitafed &t i 8 |

(A) Erefe | &t

(B) T H gl

(C) WRHEME & &9 H

(D) FEHE & &9 H

Fe,0, 31 Al a1 STTsHa {eTd AT &
Sire o fore s i st 2, 39
ik gd & |

T U 3G 2 |
(B) wiefirm

(D) ST

(A) afife

(B) Teufoeem

(C) T

(D) SR

Hieet 1 o T arg @ |
(A) Cu3zZn (B) Cu3M Sn
(C) Pb3MZn (D) Pb 3R Sn
Qi e fraie &1 O B

(A) 6.673 x 1011 Nm?kg2
(B) 6.673 x 10" Nm2kg =2
(C) 6.673 x 107> Nm2kg2
(D) 6.673 x 105 Nm?kg—2
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Which one of the following has the
smallest diameter ?

(A) right primary bronchus

(B) left primary bronchus

(C) trachea

(D) respiratory bronchiole

is a major component of
Compressed Natural Gas (CNG).
(A) Ethane (B) Propane
(C) Butane (D) Methane

For hydrogenation of vegetable oils
is used as catalyst.
(B) Pt
(D) Na

(A) Ni
(C) Ag

An object is thrown vertically upwards
and rises to a height of 10 m. The
velocity with which the object was
thrown upwards is
(A) 10 ms™!
(C) 14 ms™

(B) 12ms™!
(D) 16 ms™!

Match the following columns.

Column - | Column = Il
a. Larynx 1. Lid of larynx
b. Trachea 2. Airsacs
c. Alveoli 3. Voice box
d. Epiglottis 4. Wind pipe
5. Common
passage
(A) a—3,b-5,c-2,d—-4
(B) a-3,b—-4,c-1,d-2
(C) a-3,b—-4,c-2,d-5

(D) a-3,b—4,c-2,d-1

156.

156.

157.

158.

159.

oxidises alcohol to acid.
(A) Alkaline KMnO,

(B) Acidified KMnO,

(C) Alkaline K,Cr,0,

(D) LiAIH,

solution of acetic acid in
water is called vinegar.

(A) 8-10% (B) 5-8%
C) 1-4% (D) 10-15%

Thrust per unit area is
(B) velocity
(D) pressure

(A) volume
(C) force

Identify the wrong statement from the

following.

(A) The space in which the heart is
situated is called mediastinum

(B) Largest number of white blood

corpuscles are Neutrophils

(C) Contraction of heart chambers is

followed immediately by relaxation

but relaxation is not immediately

followed by contraction, before that

there is a recovery period

(D) A pair of coronary arteries arise

from pulmonary artery to supply

blood to heart wall

Ethanoic acid reacts with absolute
ethanol in the presence of acid catalyst
to give an
(A) Aldehyde
(C) Ester

(B) Ketone
(D) Ether
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Fraferfaa 3§ @ foraen = ge@ S 2 2
(A) =l wafies siwy

(B) =l Wi sy

(C) Yo et

(D) Y& Sifeh3e

gdifea wpfoes 9 %1
T 9 ¢ |
(A) (B) WA
(C) =g (D) e

FFEf At o BRGISHISRT B3I &
U 1 A R ST § |
(A) Ni (B) " Pt

(C) Ag (D) Na

TS S I 3T FHU Y IR Fewt ST
T ag 10 #t A 9 o a2 | 98 an

e wve o = AT TR T T R
(A) 10 ms™! (B) 12ms™!
(C) 14 ms™! (D) 16 ms™!

Tr=fetRaa siem =i firemsu |
HiH — | Hie| - Il
W T T ol e
REICE arg 1 Aferat
IR a1 &
ERIE EREIE

5. Iwafss wrf

a-3,b-5,c-2,d-4
a-3,b-4,c-1,d-2
a-3,b—4,c-2,d-5
a-3,b—-4,¢c-2,d-1

a o o p
il o

(A)
(B)
(©)
(D)
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157"

158.

159.

MKG-XXVI/TECHLT/1T/07

. oI ol 3T | SATereeRT
FATE |

(A) &TlF KMnO,
(B) 3tdlERd KMnO,

(C) &m™ K,Cr,0,
(D) LiAIH,

Sa 4 tfafes o &+
foem  frar ed § |
(A) 8-10% (B) 5-8%

(C) 1-4% (D) 10— 15%

e I 3TS ATFA B
(A) ITFF (B) am
(C) == (D) ==

Frefetiaa 3 ¥ TTeTd 9T YgETT |

(A) 98 W fad gew fovm =i g,
Hif e HEe &

(B) Yad Tor hiurehall i Terd a€t T
e &

(C) & Hal o TgheH & qLa a1e e
e 2 wig frfiem & qia e g
T BT, 369 Y U Ao St gl

(D) FFH guft & A emfa 6w

7w e it 1 wanfd w6 F fg
(ECTIRIE

39S TR TS 39T & WY
7 ek o1 Sufedrfa o sfvrferen o
AR |

(B) e
(D) ¥

(A) TeSiErEe
(C) X
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A constant force acts on a object of mass
5 kg for a duration of 2 s. It increases
the object's velocity from3ms™ to 7 ms.
Then the magnitude of the applied force is

(A) 5N (B) 10N

(C) 15N (D) 20N

Arteries are

(A) thin walled and blood flows under

high pressure

thick walled and blood flows under
high pressure

thin walled and blood flows under
diminished pressure

thick walled and blood flows under
low pressure

Law of octaves was applicable only up to
(A) Sodium (B) Potassium
(C) Magnesium (D) Calcium

Area under the velocity-time graph
represents

(A) volume

(B) speed

(C) acceleration

(D) distance travelled

Sella turcica is

(A) Depression of ethmoid for the
accommodation of eye

(B) Depression in the sphenoid bone
for an area of pituitary gland

(C) Ridge of vertebral column for the
accommodation of ribs

(D) Ridge in the skull over the area of
pituitary gland

165.

166.

167.

168.

169.

000 00O

Modern periodic law states that,
“properties of elements are a periodic
function of their o

(A) Atomic number
(B) Atomic mass
(C) Atomic size
(D) Atomic nature

A train starting from rest attains a velocity
of 72 kmh™! in 5 minutes. Assuming
that the acceleration is uniform, then
the distance travelled by the train for
attaining this velocity is

(A) 1km (B) 2km

(C) 3km (D) 4 km

Phenotype of an organism is the result of

(A) genotype and environment

interactions

(B) mutations and linkages

(C) cytoplasmic effects and nutrition

(D) environmental changes and sexual
dimorphism

Siliconis a

(A) Metal (B) Metalloid

(C) Non-metal (D) Semi-solid

An artificial satellite is moving in a
circular orbit of radius 42250 km, what
is its speed if it takes 24 hours to revolve
around the earth ?

(A) 3520 km/hr
(B) 2520n km/hr
(C) 1520m km/hr
(D) 520m km/hr
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us fa o1t 2 Gehe it arafy e 5 fomn
FEIH i Uk g T B | T8 g H AT
F WA G 7T e | A SR
Eniealite i

(A) 5N (B) 10N
(C) 15N (D) 20N
et &

(A) Taet fufaareh st s wa 3= e
T JEaT 8

(B) A Tufe areft it 37 @ 3= 7™
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(C) vaedt i areft o7t 37 o W TrE
4 wEdr &

(D) Tty et 3k 39w & i e
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Ifaes = fam Faa

AR EAIR |

(A) Hifeam (B) dref3rm

(C) Ffifsram (D) FHfEmEm
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AT R |

(A) ST

(B)

(C) =

(D) T@H TR

e et R

(A) TG FEER ST o foru wemige = Sae
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&l 1 gamE
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i =71t
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(A) Y FEAT

(B) GHIY S9HTH

(C) U] AThI

(D) WY SR

wh g8 terel 5 fime 7 72 fordt wfr wren
=1 T YIS Tl € | I8 W gL foh T

U YU B, T8 O YT A o for termeh

R TR CRAUE
(A) 1 Tt (B) 2 foprdt
(C) 3 Tertt (D) 4 Tt

THSAHEARRT_ HRom R |
(A) SfiFTeEw 3R qafeia sm=a=afswa
(B) Icaftadd TR wieat

(C) hIf¥Tent Feffar wuma TR dwor

(D) watervfiy ufeda 3t St fawsuan

s & 2 |

(A) ard (B) 3uHrd

(C) ererg (D) ei-3r

U FHm I B 42250 Rt % o

i et | o @1 @ | Afe geal 1 =
oA o 3 24 §2 1 gHT 7 @18, a
O fd TR 2

(A) 3520n forei/aeT

(B) 2520 fertfi/areT

(C) 1520x ferdi/Ee

(D) 520 feri/EeT
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In sweet pea genes dominant allele
C and P are necessary for colour in
flowers. The flowers are white in the
absence of either or both the genes.
What will be the percentage of coloured
flowers in the offspring of the cross
Ccpp x ccPp ?

(A) 25% (B) 50%
(C) 75% (D) 100%
Catenation is seen in
compounds.

(A) Silicon (B) Sodium
(C) Caesium (D) Carbon

A man lifts a luggage of 15 kg from the
ground and puts it on his head, 1.5 m
above the ground, then the work done
by him on the luggage is (g = 10 ms™)
(A) 200J (B) 225J
(C) 2504J (D) 275J

If parents have heterozygous A and B
blood groups, then possibility of
genotypes in their progeny are

(A) Only 1919

(B) Only IAB

(C) IA 19 and IBIO

(D) IAI0,1BIO, |ABand IO/0

is the isotope of chlorine.
(B) Cl
(D) 3Cl

34
e
38
rol

(A)
(©)

What is the work to be done to increase
the velocity of a car from 30 kmh~! to
60 kmh™" if the mass of car is 1500 kg ?
(A) 156250J  (B) 116250
(C) 106250J (D) 126250 J

176.

V71.

178.

179.

180.

181.

0O I 0

Eye defect Myopia can be corrected by
(A) convexlens (B) concave lens
(C) planelens (D) bifocal lens

Molecular mass of HNOg is
(A) 63u (B) 18u
(C) 36u (D) 81u

A boy of mass 50 kg runs up a staircase
of 45 steps in 9 s. If the height of each
step is 15 cm, find his power:

(g=10 ms™2)
(A) 300W (B) 325 W
(C) 350 W (D) 375W

To overcome the defect presbyopia
doctors advise to use

(A) convexlens (B) concave lens

(C) plantslens (D) bifocal lens

Law of stated as “In a
chemical substance the elements are
always present in definite proportions
by mass”.

(A) Chemical combinations
(B) Constant proportions

(C) Conservation of mass
(D) Relativity

In which media does sound travel the
fastest at a particular temperature ?
(A) lron

(B) Air

(C) Water

(D) Sulphur dioxide
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(A) 25% (B) 50%

(C) 75% (D) 100%

TG QiR A @ISR |
(A) Tafereia (B) difezw

(C) ity (D) &
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2 (g =103
(A) 200J (B) 225
(C) 250 (D) 275
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(A) e 1010

(B) Fad IAB

(C) IA103f B0
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FARA &% GRITAF B |
(A) $CI (B) HCl
(C) %al (D) Cl

T %I 1 599 Ife 1500 forn &, @Y
391 A 30 TRt /s @ 60 foreft /eia

W& o ot fopa T e R 2

(A) 156250 J
(C) 106250 J

(B) 116250 J
(D) 126250 J
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Which of the following is not a
characteristic of oogenesis ?
(A) Only first meiotic division is
occurred in the ovary

(B) Ovulation occurs as result of surge
of LH hormone

(C) Only one oogonial cell takes part in
the growth and maturation stage
(D) Ova are released from the ovary in

the morula stage

The maximum number of electrons that
can be accommodated in the outermost
orbit is
(A) 12
(C) 8

(B) 2
(D) 18

Frequencies associated with ultrasound is
(A) greater than 20 kHz

(B) less than 20 kHz

(C) less than 5 kHz

(D) greater than or equal to 5 kHz

Which is not a function of placenta ?
(A) Secretes oxytocin during
parturition

(B)

Facilitates supply of oxygen and
nutrients to embryo

(C)
(D)

Secretes oestrogen

Facilitates removal of CO, and
waste material from embryo

is used in

An isotope of
the treatment of Cancer.

(B) Cobalt
(D) Francium

(A) Uranium
(C) lodine

187.

188.

189.

190.

181,

0T 00 0

The number of complete oscillations per
unit time is called

(A) period
(C) wavelength

(B) frequency
(D) phase

Alleles are located on

(A) different locus same chromosome

(B) same locus on homologous
chromosomes

(C) same locus on non homologous
chromosomes

(D)

different locus on non homologous
chromosomes

A solution of iodine in is
known as tincture of iodine.

(A) acid (B) ester
(C) ether (D) alcohol

A bullet of mass 20 g is horizontally fired
with a velocity 150 ms~! from a pistol of
mass 2 kg. What is the recoil velocity of
the pistol ?

(A) 1.5 ms™! (opposite to the direction
of bullet fired)

1.5 ms™! (along the direction of the
bullet fired)

3ms~! (opposite to the direction of
bullet fired)

3 ms™! (along the direction of the
bullet fired)

Which one of the following conditions

correctly describes the manner of

determining the sex ?

(A) In birds homozygosity (ZZ)
determine female sex

(B) XXY condition in humans as found

in Turners syndrome tendency of

female sex

XX type of sex chromosome
determine female sex in
grasshopper

homozygous sex
chromosomes(XX) produce male
drosophila

(B)
(©)

(D)

()

(D)
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Separation of ammonium chloride and
salt is done by
(A) Crystallisation (B) Sublimation

(C) Distillation (D) Evaporation

1 watt is equal to

1volt
1ampere

(A)

1ampere

B) —Fvor

(C) 1 volt x 1 ampere

(D) (1 volt)2 x 1 ampere

One of the following principles was not
proposed by Mendel. It was law of

(A) Segregation

(B) Blending inheritance

(C) Dominance

(D) Independent assortment

A doctor has prescribed a corrective
lens of power +1.5D then the focal
length of the lens is

(A) 50cm (B) 80cm

(C) 15¢cm (D) 67 cm

Which of the following is not a feature
of asexual reproduction ?

(A) involves the participation of single
parent

variation occurs only by mutation
not by recombination

it does not involve gametes
fusion

it is a very slow process of
multiplication of individuals

197.

198.

199.

200.

D 0 OO 0 O 0

“When a body is immersed fully or
partially in a fluid, it experiences an
upward force that is equal to the weight
of the fluid displaced by it” is

(A) Pascal law

(B) Newton’s Il law

(C) Archimedes’ principle

(D) Bernoullis principle

Match the following and identify the
correct option.
i. Cabbage a. Arrested flower
_ development
ii. Broccoli b. Swollen parts
ii. Kale c. Short distances
between leaves
iv. Kohirabi d. Larger leaves
i i dii v
(A) c a d b
B) b d a c¢
(C) iy & wdhe @
(D) d ¢ a b

The rate of doing work is
(A) Kinetic energy

(B) Potential energy
(C) Power

(D) Joule

Double fertilization is found in

(A) all Angiosperms

(B) all Angiosperms and few
Gymnosperms

all Angiosperms few Gymnosperms
and few Pteridophytes

all algae and in some Bryophytes

(C)

(D)
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192, I FeIRIgS ST T o1 YRl
S o ST 2 |

(B) 3eaqTeH

(D) aTedteRtor

(A) TETER
(C) &

1 9z S &
1dlee
e

1 urfer
1 dlee

(C) 1dree x 1 T
(D) (14d1e2)2 x 1 TR

Frafafaa o @ v fem dea gro wefea
T fopm o1 | 9" 1 R o |
(A) goFRTT

(B) TR =T firsmor

(C) el &

(D) w@ax fa=ma

195. W Maferedss 3 + 1.5D WifFa &1 genge g
fafafde fr 2 | o f P ded ?

(A) 50 .4 (B) 80 &.4t.
(C) 1531, (D) 67 T.H.

196. Tr=feifaa ¥ @ S9-a1 31 TS

Teh AL TR & 7

(A) 388 Tra-foar § @ U & 9ried
AT &

(B) fafaerar shaet 3cafiads & amdt &
o grdasm @

(C) s9¥ Il Herad INfie e 2

(D) ¥& Sfiai = o B it fiedt ufsrn 2

193.

(B)

194.
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197. “ST8 U I ! AT A1 q01 &9 & 59 |
G ST 8, 1 39 T S FRT Yoo
aa%w%argtaamﬁaﬁzm%"

|
(A) UTERA & am
(B) = 1 fram
(C) S =1 fam
(D) sHTe 1w

198. fafafaa &1 e = 3 gt faseg it
e il
i. o
ii. STERIAT
i, T
iv. oS

I 1
(A) ¢
(B) b
(C) b
(D) d

1 A B
(A) Tfest St
(B) feufes ==
(C) e
(D) &

Tefom=m

(A) Tt rrgasfish

(B) @t HEiiSlt F F© IS ISi

(C) wxft angaslis & SFEdsis 3R
EEEALSR

(D) |t T TR TS TATHEE

a. TEE B foshm
b. g1 g AW

c. Ul = =t =0 g
d. a3 T

o o0 oo
® oo =
oM 0o O <

199.

200. TEae |

37-
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IMPORTANT INSTRUCTIONS TO CANDIDATES

Iuftear & foru ngwaqui sEw

13. =9 yftae d 40 ¥ 2|

13.

14,

15.

17

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (®) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
againstthe question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wrong Method || Wrong Method || Correct Method

O®00O|IOL0COI0@O00I0e0 0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.

14.

15.

16.

374

18.

19.

AR 00

fodw : IR uw ImEr T g FYA F e
TR I AYAT Tk B I T B | Tl gul
4§ 3yeh! fRHT T 1 FA1 B S 9 B G IW
3 STYUET FYA I T R R 3Yeh! IR qBrehT o
IR TEHR @H A, B, C I1 D i fielt 1 el
HiA-aig U9 | e (@) FE 8 | (gfeafim
sefteari & fom oma marer fafvw gm
et feran wime)

e o o T 3fud g9 o Targie sk 3T
W ford | 39 A fo RS wm B Rt # |
fersiferd 0 o ol allem R fem man 2

el lelel(elviols] (elCKele] (e Jolo)

Fveff &l 37T I AFYES Wi R & Iuu
fafa s =nfew |

TAF W 1 had Uh & WEl IW E | TR
YA sieW AT A, B, C 31 D & AR @H
I T (@) FET 7 | Al 39 fomelt ww7 & @A
T & 31t MR @ 6 Wi (@) &) 379sH
IO T HHT SR |

Ife foredt wem & f&=t @ sih s 4 +r8
It & d 3u a6 wE wwen SR |

Fed 1 & foe Shaet 9w 73 ° fou M wuE
TN AR | IO GfEaeh] W wedl HE A R |

T Yfeaeh o 3TGT JYeh! IR Jifera T8 & ¢ |
I HTA T UL A @ 3

Go through instructions given in Page No. 1 (Facing Page)




